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A block of mass 2m moving to the right with a speed of V0 on a frictionless surface collides 
with a light spring attached to a second block of mass 4m initially moving to the left with a 
speed of 2V0 as shown in Figure.  The spring constant is k. 

a)      Find the velocities of the two blocks when the spring reaches its 

maximum  compression. 

b)      Calculate the maximum compression of the spring. 

c)       Find the velocities of the blocks after the collision.  
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A block of mass 2m moving to the right with a speed of 2V0 on a frictionless surface collides 
with a light spring attached to a second block of mass 4m initially moving to the left with a 
speed of 4V0 as shown in Figure.  The spring constant is k. 

a)      Find the velocities of the two blocks when the spring reaches its 

maximum  compression. 

b)      Calculate the maximum compression of the spring. 

c)       Find the velocities of the blocks after the collision.  
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A block of mass 4m moving to the right with a speed of 8V0 on a frictionless surface collides 
with a light spring attached to a second block of mass 2m initially moving to the left with a 
speed of 4V0 as shown in Figure.  The spring constant is k. 

a)      Find the velocities of the two blocks when the spring reaches its 
maximum  compression. 

b)      Calculate the maximum compression of the spring. 

c)       Find the velocities of the blocks after the collision.  
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